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SUBJECT CODE NO:- 1339
FACULTY OF HUMANITIES
B.A. T.Y. (Sem-VI)
Examination March/April-2022 (To Be Held In June/July-2022)
Economics - X1V
Industrial Economics

[Time: 1:53 Hours]
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Q.1

A)

3)

B)

Please check whether you have got the right question paper.
1) All questions are compulsory.
2) Use black or blue pen only.
3) Use pencil for diagrams.
4) Use of any signs, attracting attention is prohibited.

?) |4 9 AsfT 39T e

Q) Werd [T fohaT FTedT YeTTe UaR ST,

3) 3MMhcITETS! AfeHerar aT9X 9feTd 31Te.

8)  HIUTAEN TeTALIeh GuT fehall Fael oy Gfaetr 31me.

Fill in the blanks (attempt all)

1) - is the principle of public enterprise.

2) In India first sector dominant in -=--=----------

3) Family members helped in ------=------- industries.

4) In India iron and steel industry started in -=---------- year.
5) India have --------- economy.

e S %7 (Fa 3ferard)

) HRATT IrAfAS 8 TG - &TATA 3Techd.
3) Felaardl A ---ameeev 3T &Id.
8) HAT ollg Ielle SEIET FEATC =--mmm-rm-- 7 quff STl

Answer in one sentences

1) What is pure raw material?

2) Write the meaning of merger.

3) State two characteristics of private sector.
4) ‘What is industrial integration?

5) What is split location?

3T) ‘T ATeRIT Seelk folgT. (@ d Jfavard)

?)  Ee FHedT ATl FgUTS hId?
Q) faehetierzomar 3¢ forgr.
3) Wrsrel &1ATd glet TSy Hiam.
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Q.2

Q.3

A)

37)

B)

8) 3NN FATT FgUTS I
9) wisd ranfadfeor Fgorst s

Explain concepts/terms/units/event (any two)
1) Role of industry.

2) Public ownership system

3) Transport cost

4) Regional imbalances

HhoTsTT / TIT / T&eh TTAT TISC Hl.
(FIUTCET 2leT)

?) e sifAeT

) HIaATAS ATl gaFh

3) dgds Ed

Y) STciRIe A

Attempt in short (any two)

1) State the disadvantages of Multinational Corporation.

2) Describe the advantages of joint stock company

3) Describe the problems of cotton textile industry.

4) Explain the importance of agro processing industries in rural development

31) NSFATA 3] [oIgT (FIUTALT alel)

%)

R)  FER IO ATATCITIT AT AN fARIHRMAS Fged FIC .

?) SIS hUAT TN HA.
) TYFd ThY YHSBI B g .
3) Yl HIYS SCAPTAT HHEAT [aere 3.

¥) S GishaT ST AT IR Hged TASC .

Answer in detail (any one)

(word limitation minimum 200 words for each answer)
1) Explain the progress and problems of sugar industries.

2) Explain the importance of cottage and village industries in rural industrialization.

FAEAR 3cck ToreT (FIvTde! Tah)

HIEY 3SR STl 30T HAEIT EISC T
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